'»%ﬁ'fkg ' t6zko NICOLE z pojemnikiem | ORI

04042024

BOGART.
X

NB H25 BND 300MM BNM 127MM KD L130 SG M6x25 WP 4,2x32 P6
) —2\
N 7 i ;
4 c%// P //;j "
== i 4 Ay, Uy,
N\ < ° ‘ % %/}j/
b .4 7 B
X6 x4 x2 x4 x2
SK M6x20 SK M6x25 SK M6x30 SK M6x50 PP M6 NS M6
), W, D, )
x28 x6 x4 x12 x8 x8

1/12



Q 202 cm 33 cm 4 cm 1x
0 202 cm 33 cm 4 cm 1x
e 130/150/170/190 cm | 44 cm 12 cm 1x
Q 130/150/170/190 cm | 104 cm 12 cm 1x
G 121/141/161/181cm | 25cm 6 cm 1x
0 121/141/161/181cm | 25cm 2cm 1x
@ 121/141/161/181cm | 99 cm 0,3 cm 2X




SK M6x20

5

)

SK M6x20

x16

n BND 300MM

_
-
SK M6x20 | 08— ®

SK M6x20
SK M6x20

3/12



SK M6x50
SK M6x50

o e e — —————————

-

)

SK M6x20

x8

SK M6x50

x8

a BND 300MM

SK M6x20

SK M6x20

SK M6x20

g

R o o o ———— — — — — — ——

4/12



s

PP M6

SK M6x20

BNM 127MM

BNM 127MM

SK M6x20 + PP M6

SG M6x25

5/12



v

LIiLiild

x4 x4 x4 x4 g
% SK M6x30
@j: =

BN
— )
I
1

—PPM6 |
8 ® A

6/12



42)

i
b

7112



1-2x

B H

14 - 1x

1980x30x30mm
2 -1x 4 - 36x 8 -2x _
" j\{()’
E 606 oD 00 ©0 OO OO DO DO 6O DO OO 0D 6O 00 00 68 00 o0 i] (‘:::\\::;;;;::\\\\ /(\//i////
= @(/4 Z
1940x80x35mm 575/675/775/875x52x8
3-2x 5 - 36x 8 - 18x 13 - 4x
[T 58] i g o
== = — ;
1110/1310/1510/1710x30x30mm
9 - 1x 10 - 6x 11 - 8x 12 - 4x

Loy

O

&

8/12



9/12



10/12



e
X &
a \
SK M6x25 65

11/12






	Pusta strona
	Pusta strona
	Pusta strona
	Pusta strona
	Pusta strona
	Pusta strona
	Pusta strona
	Pusta strona
	Pusta strona



